PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE: Quantities shown in this column are for in-

house use only.

OKADA TRUCKING

-								
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing	L.S.	0.35 acres	L.S.	L.S.	\$10,000.00	L.S.	\$14,000.00
202.3010	Removal of Existing Asphalt Concrete Pavement	L.S.	915 S.Y.	L.S.	L.S.	\$20,000.00	L.S.	\$18,300.00
202.5030	Removal of Portion of Existing Concrete Retaining Wall and Footing	L.S.	35 L.F	L.S.	L.S.	\$12,750.00	L.S.	\$35,945.00
202.6030	Removal of Existing 24-inch Drain	L.S.	400 L.F.	L.S.	L.S.	\$27,250.00	L.S.	\$3,000.00
203.6040	Removal of Existing Storm Drain Manhole	L.S.	1 Each	L.S.	L.S.	\$1,275.00	L.S.	\$2,000.00
202.6041	Removal of Existing Catch Basin	L.S.	2 Each	L.S.	L.S.	\$2,550.00	L.S.	\$3,000.00
202.6060	Removal of Existing Guardrail	L.S.	400 L.F	L.S.	L.S.	\$8,000.00	L.S.	\$4,000.00
202.6070	Removal of Existing Chain Link Fence	L.S.	330 L.F.	L.S.	L.S.	\$3,300.00	L.S.	\$3,300.00
202.6080	Removal of Existing Concrete Sidewalk	L.S.	85 S.Y.	L.S.	L.S.	\$2,200.00	L.S.	\$500.00
202.6090	Removal of Existing Concrete Curb	L.S.	570 L.F.	L.S.	L.S.	\$4,000.00	L.S.	\$3,000.00
202.6091	Removal of Existing Concrete Curb and Gutter	L.S.	635 L.F.	L.S.	L.S.	\$8,250.00	L.S.	\$6,000.00
202.6120	Removal of Existing CRM Wall	L.S.	185 L.F.	L.S.	L.S.	\$16,000.00	L.S.	\$10,000.00
202.6160	Removal of Existing Irrigation Lines, Valves, Heads, and Controls	L.S.		L.S.	L.S.	\$5,000.00	L.S.	\$2,000.00
202.6240	Removal of Existing 12-inch Water Line	L.S.	85 L.F.	L.S.	L.S.	\$3,850.00	L.S.	\$1,700.00
202.6241	Removal of Existing Water Meter Box	L.S.	1 Each	L.S.	L.S.	\$325.00	L.S.	\$23,200.00

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE: Quantities shown in this column

are for inhouse use only. OKADA TRUCKING

					I.		1	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.6242	Removal of Existing BWS Manhole for Air Relief Valve	L.S.		L.S.	L.S.	\$1,275.00	L.S.	\$2,000.00
203.0100	Roadway Excavation	526		C.Y.	\$850.00	\$447,100.00	\$150.00	\$78,900.00
206.5030	Structure Excavation For Retaining Walls	L.S.	1180 C.Y.	L.S.	L.S.	\$1,750,000.00	L.S.	\$76,700.00
206.5031	Structure Backfill For Retaining Walls	L.S.	310 C.Y.	L.S.	L.S.	\$27,900.00	L.S.	\$20,150.00
206.5032	Filter Material for Retaining Walls	L.S.	60 C.Y.	L.S.	L.S.	\$6,500.00	L.S.	\$4,500.00
206.6030	Trench Excavation for Water Line Relocation	L.S.	140 C.Y.	L.S.	L.S.	\$339,142.00	L.S.	\$11,200.00
206.6031	Trench Backfill for Water Line Relocation	L.S.	80 C.Y.	L.S.	L.S.	\$2,400.00	L.S.	\$4,800.00
206.6090	Excavation For Drainage System	L.S.	545 C.Y.	L.S.	L.S.	\$575,000.00	L.S.	\$43,600.00
207.0100	Ditch and Channel Excavation	L.S.	15 C.Y.	L.S.	L.S.	\$2,000.00	L.S.	\$600.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	L.S.		L.S.	L.S.	\$15,000.00	L.S.	\$70,000.00
209.0110	Additional Water Pollution, Dust and Erosion Control	F.A.		F.A.	F.A.	\$50,000.00	F.A.	\$50,000.00
304.0100	Aggregate Base Course	41		C.Y.	\$150.00	\$6,150.00	\$70.00	\$2,870.00
305.0100	Aggregate Subbase Course	420		C.Y.	\$140.00	\$58,800.00	\$70.00	\$29,400.00
306.0100	Untreated Permeable Base Course	185		C.Y.	\$160.00	\$29,600.00	\$70.00	\$12,950.00
312.0100	Plant Mix Glassphalt Concrete Base Course	570		Ton	\$245.00	\$139,650.00	\$200.00	\$114,000.00

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

** NOTE: Quantities

DATE ADVERTISED: Internet Posting - August 30, 2007

shown in this column are for in-

BIDS OPENED: January 17, 2008

house use

COMPLETION TIME: One Hundred Eighty (180) Working Days

only.

STATE OF HAWAII DEPARTMENT OF OKADA TRUCKING TRANSPORTATION HIGHWAYS DIVISION

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
401.0400	Asphalt Concrete Pavement Mix No. IV	635	Q 07 ((V) 11)	Ton	\$265.00	\$168,275.00	\$200:00	\$127,000.00
503.0100	Concrete in Retaining Walls	L.S.	160 C.Y.	L.S.	L.S.	\$400,000.00	L.S.	\$336,000.00
503.0200	Concrete in Footings for Retaining Wall Structure	L.S.	164 C.Y.	L.S.	L.S.	\$125,000.00	L.S.	\$230,000.00
503.0300	Concrete in Grade Adjustment Wall	L.S.	6 C.Y.	L.S.	L.S.	\$5,400.00	L.S.	\$2,500.00
503.0400	Concrete in Reaction Blocks, Test Blocks, Jackets, and Reaction Blocks	L.S.	37 C.Y.	L.S.	L.S.	\$18,500.00	L.S.	\$15,000.00
602.0100	Reinforcing Steel in Retaining Walls	L.S.	19,160 L.B.	L.S.	L.S.	\$28,000.00	L.S.	\$76,640.00
602.0200	Reinforcing Steel in Retaining Wall Footings	L.S.	12,450 L.B.	L.S.	L.S.	\$18,100.00	L.S.	\$49,800.00
602.0300	Reinforcing Steel in Grade Adjustment Walls	L.S.	115 L.B.	L.S.	L.S.	\$140.00	L.S.	\$500.00
602.0400	Reinforcing Steel in Reaction Blocks, Test Blocks, Jackets, and Reaction Beams	L.S.	2,500 L.B.	L.S.	L.S.	\$3,000.00	L.S.	\$10,000.00
603.0100	Bed Course Material for Culvert	L.S.	95 C.Y.	L.S.	L.S.	\$10,450.00	L.S.	\$4,000.00
603.0200	24-inch Reinforced Concrete Pipe, Class III	L.S.	465 L.F.	L.S.	L.S.	\$27,900.00	L.S.	\$24,000.00
603.0300	Clean Existing Culverts	F.A.		F.A.	F.A.	\$10,000.00	L.S.	\$10,000.00
604.0100	Type "E" Manhole, 5.00 feet to 5.99 feet	1		Each	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
604.0110	Type "E" Manhole, 6.00 feet to 6.99 feet	1		Each	\$6,400.00	\$6,400.00	\$4,500.00	\$4,500.00
604.0200	Inlet #1, 5.00 feet to 5.99 feet	1		Each	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00
							1	

TABULATION OF BIDS PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center District of Honolulu Net Length of Project: 0.15 Miles PROJECT NO.: TC-H1-1(258) STATE OF HAWAII DEPARTMENT OF ** NOTE: OKADA TRUCKING ISLAND: Oahu TRANSPORTATION Quantities HIGHWAYS DIVISION shown in DATE ADVERTISED: Internet Posting - August 30, 2007 this column are for in-BIDS OPENED: January 17, 2008 house use only. COMPLETION TIME: One Hundred Eighty (180) Working Days APPROX. **APPROX. QUANTITY UNIT USED UNIT PRICE **AMOUNT** UNIT PRICE **AMOUNT** ITEM ITEM NO.

		I GOMBILLI.	QUANTITI	OINT OOLD	ONT TROL	71100111	Otall 1 100 F	7.11100111
604.0300	Type "A" Catch Basin, 4.00 feet to 4.99 feet	1		Each	\$16,500.00	\$16,500.00	\$5,000.00	\$5,000.00
604.0310	Type "A" Catch Basin, 5.00 feet to 5.99 feet	1		Each	\$17,500.00	\$17,500.00	\$6,500.00	\$6,500.00
604.0320	Type "B" Catch Basin, 5.00 feet to 5.99 feet	1		Each	\$14,250.00	\$14,250.00	\$6,000.00	\$6,000.00
604.0330	Type "C" Catch Basin, 5.00 feet to 5.99 feet	1		Each	\$14,250.00	\$14,250.00	\$6,000.00	\$6,000.00
605.0100	6-inch Perforated Underdrain Pipe	L.S.	340 L.F.	L.S.	L.S.	\$18,700.00	L.S.	\$6,800.00
605.0200	6-inch Non-Perforated Underdrain Pipe	L.S.	340 L.F.	L.S.	L.S.	\$3,000.00	L.S.	\$6,800.00
605.0300	Cleanouts for Underdrains	L.S.	23 Each	L.S.	L.S.	\$21,850.00	L.S.	\$18,500.00
606.0100	Strong Post W-Beam Guardrail	60		L.F.	\$70.00	\$4,200.00	\$50.00	\$3,000.00
606.0200	Double Sides Strong Post W-Beam Guardrail	70		· L.F.	\$80.00	\$5,600.00	\$80.00	\$5,600.00
606.0300	W-Beam End Section (Buffer Rwe06a)	1		Each	\$115.00	\$115.00	\$200.00	\$200.00
606.3100	W-Beam End Section (Buffer Rwe01a)	1 1 .		Each	\$115.00	\$115.00	\$200.00	\$200.00
606.0400	Guardrail and Posts per City & County of Honolulu Standard Details R-22 thru R-24	45		L.F.	\$70.00	\$3,150.00	\$40.00	\$1,800.00
606.0500	Curved End per City & Conty of Honolulu Standard Details R-23	2		Each	\$55.00	\$110.00	\$200.00	\$400.00
607.0100	6-Foot High, Chain Link Fence	330		L.F.	\$80.00	\$26,400.00	\$40.00	\$13,200.00
608.0100	Concrete Sidewalk	35		S.Y.	\$100.00	\$3,500.00	\$20.00	\$700.00
1		1 .	1		1			

PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE:
Quantities
shown in
this column
are for inhouse use

only.

OKADA TRUCKING

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	LINIT DDICE	A 8 4 0 1 1 N 1 TT
608.0200	4-Inch Thick Concrete Slab	95	QUANTIT	" S.Y.	\$110.00	AMOUNT \$10,450.00	UNIT PRICE \$20.00	\$1,900.00
608.0300	6-Inch Thick Concrete Slab	250		L.F.	\$125.00	\$31,250.00	\$25.00	\$6,250.00
609.0100	Curb, Per C&C Standard Detail R-1	430		L.F.	\$20.00	\$8,600.00	\$15.00	\$6,450.00
609.0200	Curb and Gutter, Per C&C Standard Detail R-4A Revised	150		L.F.	\$35.00	\$5,250.00	\$20.00	\$3,000.00
609.0300	Curb and Gutter, Type AG	440		L.F.	\$40.00	\$17,600.00	\$25.00	\$11,000.00
609.0400	Curb and Gutter, Type DG	100	THE SECOND PARTY AND ADDRESS OF THE SECOND PARTY AND ADDRESS O	L.F.	\$37.50	\$3,750.00	\$25.00	\$2,500.00
617.0100	Imported Planting Soil	L.S.	75 C.Y.	L.S.	L.S.	\$11,000.00	L.S.	\$3,750.00
618.0100	Grassed Surfaces	L.S.	6000 S.F.	L.S.	L.S.	\$50,000.00	L.S.	\$12,000.00
619.0100	Transplant Tree (False Kou (Cordia Sebestana))	L.S.	2 Each	L.S.	L.S.	\$10,000.00	L.S.	\$5,000.00
619.0200	Plant Tree (Rainbow Shower)	L.S.	1 Each	L.S.	L.S.	\$5,000.00	L.S.	\$5,000.00
619.0300	Plant Tree (False Kou (Cordia Sebestana))	L.S.	2 Each	L.S.	L.S.	\$5,500.00	L.S.	\$10,000.00
621.0100	Regulatory Sign (10 Sq. Ft. or Less) w/ Post	L.S.	10 Each	L.S.	L.S.	\$3,600.00	L.S.	\$3,000.00
621.0110	Regulatory Sign (10 Sq. Ft. or Less) Mounted to Post	L.S.	8 Each	L.S.	L.S.	\$1,000.00	L.S.	\$2,400.00
621.0120	Regulatory Sign (10 Sq. Ft. or Less) Mounted to Street Light Post	L.S.	2 Each	L.S.	L.S.	\$290.00	L.S.	\$600.00
621.0130	Regulatory Sign (10 Sq. Ft. or Less) Mounted to Wall	L.S.	2 Each	L.S.	L.S.	\$570.00	L.S.	\$600.00
621.0140	Regulatory Sign (Greater than 10 Sq. Ft.) w/ Post	L.S.	2 Each	L.S.	L.S.	\$2,300.00	L.S.	\$600.00

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE:
Quantities
shown in
this column
are for in-

house use only.

OKADA TRUCKING

			·					
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
621.0150	Regulatory Sign (Greater than 10 Sq. Ft.) Mounted to Wall	L.S.	1 Each	L.S.	L.S.	\$650.00	L.S.	\$300.00
621.0200	Warning Sign (10 Sq. Ft. or Less) w/ Post	L.S.	2 Each	L.S.	L.S.	\$1,450.00	L.S.	\$1,200.00
621.0210	Warning Sign (10 Sq. Ft. or Less) Mounted to Wall	L.S.	2 Each	L.S.	L.S.	\$640.00	L.S.	\$600.00
621.0220	Warning Sign (Greater than 10 Sq. Ft.) w/ Post	L.S.	1 Each	L.S.	L.S.	\$760.00	L.S.	\$300.00
621.0230	Warning Sign (Greater than 10 Sq. Ft.) Mounted to Wall	L.S.	1 Each	L.S.	L.S.	\$650.00	L.S.	\$300.00
621.0300	Relocation of Existing "One Way" Sign with Post	L.S.	1 Each	L.S.	L.S.	\$240.00	L.S.	\$300.00
621.0310	Relocation of Existing "No Parking" Sign with Post	L.S.	1 Each	L.S.	L.S.	\$240.00	L.S.	\$300.00
621.0320	Relocation of Existing "Turn" Sign (W1-2L) Mounted on Post	L.S.	1 Each	L.S.	L.S.	\$55.00	L.S.	\$300.00
621.0330	Relocation of Existing "No Dumping No Littering" Sign with Post	L.S.	1 Each	L.S.	L.S.	\$240.00	L.S.	\$300.00
621.0340	Relocation of Existing "Unlicensed Vehicles Keep Out Freeway" Sign with Post	L.S.	1 Each	L.S.	L.S.	\$240.00	L.S.	\$300.00
621.0400	Reflector Marker 3 Mounted on Wall	L.S.	4 Each	L.S.	L.S.	\$440.00	L.S.	\$1,200.00
621.0410	Reflector Marker 3 Mounted on Sign Post	L.S.	4 Each	L.S.	L.S.	\$110.00	L.S.	\$400.00
621.0420	Reflector Marker 3 on Flexible Delineaters	L.S.	5 Each	L.S.	L.S.	\$660.00	L.S.	\$1,500.00
621.0430	Reflector Marker 3 on Post	L.S.	1 Each	L.S.	L.S.	\$320.00	L.S.	\$400.00

PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE: Quantities shown in

this column are for inhouse use

only.

OKADA TRUCKING

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
622.1001	Highway Light Standards With Breakway Transformer Bases, 250 Watt HPS Luminaires, 10 ft. Bracket Arms, and Concrete Foundations	L.S.		L.S.	L.S.	\$25,500.00	L.S.	\$8,000.00
622.1002	Highway Light Standards with Non-Breakaway Transformer Bases, 250 Watt HPS Luminaires, 15 ft. Bracket Arms, and Concrete Foundations	L.S.		L.S.	L.S.	\$20,500.00	L.S.	\$3,000.00
622.1003	Type A Highway Light Pullboxes	L.S.		L.S.	L.S.	\$12,000.00	L.S.	\$6,000.00
622.1004	Remove and Salvage Existing Highway Light Standards With Single Bracket Arm and Single Luminaire; Demolish and Remove Existing Concrete Foundation	L.S.		L.S.	L.S.	\$2,600.00	L.S.	\$4,000.00
622.1005	Remove and Salvage Existing Highway Light Standards With Twin Bracket Arm and Twin Luminaire; Demolish and Remove Existing Concrete Foundation	L.S.		L.S.	L.S.	\$860.00	L.S.	\$2,000.00
622.1006	Demolish and Dispose of Existing Highway Light Pullbox	L.S.		L.S.	L.S.	\$215.00	L.S.	\$500.00
622.1007	Remove and Salvage Existing State Warning Light, Metering Equipment and Overhead Cables	L.S.		L.S.	L.S.	\$360.00	L.S.	\$1,000.00
622.1008	Remove Existing Highway Light Conductors and Abandon Existing Highway Light Conduits in Place	L.S.		L.S.	L.S.	\$720.00	L.S.	\$4,400.00
622.1009	Intercept Existing Hghway Light Conduit and Wire System with New Type A Highway Light	L.S.		L.S.	L.S.	\$3,430.00	L,S.	\$3,000.00
622.1010	Highway Lighting Conductors, 3 No. 2 With 1 No. 6 Ground	L.S.		L.S.	L.S.	\$11,800.00	L.S.	\$8,640.00

PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

** NOTE: Quantities

shown in

DATE ADVERTISED: Internet Posting - August 30, 2007

this column are for in-

BIDS OPENED: January 17, 2008

house use

COMPLETION TIME: One Hundred Eighty (180) Working Days

only.

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

OKADA TRUCKING

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
622.1011	Highway Lighting Conductors, 2 No. 2 With 1 No. 6 Ground	L.S.	QO, ((T))	L.S.	L.S.	\$3,990.00	L.S.	\$2,200.00
622.1012	One 2-Inch Highway Light Duct, Concrete Encased, Including Trenching and Backfill (Duct Section A)	L.S.		L.S.	L.S.	\$76,100.00	L.S.	\$65,800.00
622.1013	Two 2-Inch Highway Light Duct, Concrete Encased, Including Trenching and Backfill (Duct Section D)	L.S.		L.S.	L.S.	\$3,900.00	L.S.	\$1,400.00
622.1014	City & County of Honolulu Warning Light With Standard & Concrete Foundation, Per C&C DTS Requirements	L.S.		L.S.	L.S.	\$1,740.00	L.S.	\$2,500.00
622.1015	City & County of Honolulu Warning Light Electrical Service Including Utility Meter System, Per HECO and City & County, Mechanical/Electrical Division Requirements	L.S.		L.S.	L.S.	\$560.00	L.S.	\$3,000.00
622.1016	Remove and Salvage Existing City & County Street Light Luminaire	L.S.		L.S.	L.S.	\$360.00	L.S.	\$500.00
622.1017	City & County 150 Watt HPS Street Light Luminaire, Mounted On Existing Street Light Bracket Arm	L.S.		L.S.	L.S.	\$620.00	L.S.	\$750.00
622.1018	City & County Street Light Standard With Transformer Base, 150 Watt HPS Luminaire, 8 ft. Bracket Arm, and Concrete Foundation	L.S.		L.S.	L.S.	\$1,740.00	L.S.	\$3,000.00
622.1019	One 2-Inch C&C Warning Light Duct, Concrete Encased, Including Trenching and Backfill (Duct Section AA)	L.S.		L.S.	L.S.	\$9,480.00	L.S.	\$2,800.00
622.1020	One 2-Inch C&C Warning Light Duct, Concrete Encased, Including Trenching and Backfill (Duct Section BB)	L.S.		L.S.	L.S.	\$14,750.00	L.S.	\$4,550.00
623.1001	Type C State Highway Communications Pullboxes	L.S.		L.S.	L.S.	\$11,775.00	L.S.	\$6,000.00

PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

** NOTE: Quantities shown in

this column

OKADA TRUCKING

STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

are for inhouse use

COMPLETION TIME: One Hundred Eighty (180) Working Days

only.

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.1002	One 4-Inch State Highway Communications Duct, Concrete Encased, Including Trenching and Backfill (Duct Section C)	L.S.		L.S.	L.S.	\$21,980.00	L.S.	\$54,000.00
623.1003	Two 4-Inch State Highway Communications Duct, Concrete Encased, Including Trenching and Backfill (Duct Section K)	L.S.		L.S.	L.S.	\$5,600.00	L.S.	\$4,000.00
623.1004	Four 4-Inch State Highway Communications Duct, Concrete Encased, Including Trenching and Backfill (Duct Section E)	L.S.		L.S.	L.S.	\$22,425.00	L.S.	\$26,000.0
623.1005	Conduit Enties Into Existing C&C DTS Handhole, Repair to Match Existing Handhole Wall	L.S.		L.S.	L.S.	\$2,810.00	L.S.	\$1,200.0
623.1006	Demolish And Dispose of Existing C&C DTS Concrete Encased Conduits Within State Right-Of-Way	L.S.		L.S.	L.S.	\$20,900.00	L.S.	\$16,500.0
623.1007	2-75 Pair Interconnect Commuciations Cables Installed in Existing Four 4-Inch Traffic Signal Conduits Per C&C DTS Requirements	L.S.		L.S.	L.S.	\$31,525.00	L.S.	\$31,250.0
623.1008	2-12 Pair Interconnect Commuciations Cables Installed in Existing Four 4-Inch Traffic Signal Conduits Per C&C DTS Requirements	L.S.		L.S.	L.S.	\$15,800.00	L.S.	\$25,000.0
623.1009	2-6/6 Fiber Optic Commuciations Cables Installed in Existing Four 4-Inch Traffic Signal Conduits Per C&C DTS Requirements	L.S.		L.S.	L.S.	\$15,600.00	L.S.	\$18,750.0
623.1010	2-12/12 Fiber Optic Commuciations Cables Installed in Existing Four 4-Inch Traffic Signal Conduits Per C&C DTS Requirements	L.S.		L.S.	L.S.	\$26,930.00	L.S.	\$25,000.0

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE: Quantities

shown in this column are for in-

house use only.

OKADA TRUCKING

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
623.1011	2-18/18 Fiber Optic Commuciations Cables Installed in Existing Four 4-Inch Traffic Signal Conduits Per C&C DTS Requirements	L.S.		L.S.	L.S:	\$34,900.00	L.S.	\$31,250.00
623.1012	Coordination of Work with the C&C DTS for Terminating New Interconnect and Fiber Optic Cables as Required	L.S.		L.S.	L.S.	\$2,750.00	L.S.	\$10,000.00
623.1013	Remove and Dispose of Existing Interconnect and Fiber Optic Communication Cables	L.S.		L.S.	L.S.	\$13,200.00	L.S.	\$12,500.00
624.0100	6-Inch Ductile Iron Pipe (Class 52)	10		L.F.	\$75.00	\$750.00	\$30.00	\$300.00
624.0110	12-Inch Ductile Iron Pipe (Class 52)	98		L.F.	\$95.00	\$9,310.00	\$50.00	\$4,900.00
624.0200	Ductile Iron Fittings	1,945		LB	\$3.40	\$6,613.00	\$5.00	\$9,725.00
624.3000	6-Inch Gate Valve	1		Each	\$850.00	\$850.00	\$500.00	\$500.00
624.0310	3/4" Air Relief Valve (150 psi Working Pressure)	1		Each	\$700.00	\$700.00	\$600.00	\$600.00
624.0500	Relocate Existing Fire Hydrant #794 including Cleaning, Painting, New F.H. Extension Piece and F.H. Marker	1		Each	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00
624.0600	2 1/2-Inch Cleanout for Testing	1		Each	\$350.00	\$350.00	\$400.00	\$400.00
624.0700	4-Inch Cleanout for Testing	3		Each	\$1,000.00	\$3,000.00	\$600.00	\$1,800.00
624.0800	Copper Service Lateral for Irrigation	2		Each	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
624.0900	Copper Service Connection for Irrigation	2		Each	\$1,250.00	\$2,500.00	\$1,000.00	\$2,000.00
624.1000	Hydrotesting	L.S.		L.S.	L.S.	\$4,000.00	L.S.	\$2,000.00

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE: Quantities shown in

this column are for in-house use

only.

OKADA TRÚCKING

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
625.0100	Reinforced Concrete Jacket for 6-Inch Sewer Line	6		L.F.	\$400.00	\$2,400.00	\$100.00	\$600.00
626.6240	Air Relief Valve Box per BWS Standard Details	1		Each	\$1,550.00	\$1,550.00	\$4,000.00	\$4,000.00
626.6241	Water Valve Box per BWS Standard Details	1		Each	\$560.00	\$560.00	\$500.00	\$500.00
626.6242	Adjusting Water Valve Box	1		Each	\$250.00	\$250.00	\$300.00	\$300.00
626.6243	Adjusting Water Manhole Cone, Riser, Frame & Cover	1		Each	\$1,150.00	\$1,150.00	\$1,500.00	\$1,500.00
626.6250	Adjusting Sewer Manhole Cone, Riser, Frame & Cover	2		Each	\$1,150.00	\$2,300.00	\$1,500.00	\$3,000.00
629.0100	4-Inch White Pavement Striping - Tape, Type I or Thermoplastic Extrusion	L.S.		L.S.	L.S.	\$1,915.00	L.S.	\$7,000.00
629.0110	4-Inch Yellow Pavement Striping - Tape, Type I or Thermoplastic Extrusion	L.S.		L.S.	L.S.	\$1,900.00	L.S.	\$1,000.00
629.0120	4-Inch Double Yellow Pavement Striping - Tape, Type I or Thermoplastic Extrusion	L.S.		L.S.	L.S.	\$2,300.00	L.S.	\$1,000.00
629.0200	8-Inch White Pavement Striping - Tape, Type I or Thermoplastic Extrusion	L.S.		L.S.	L.S.	\$5,620.00	L.S.	\$800.00
629.0300	12-Inch White Pavement Striping - Tape, Type I or Thermoplastic Extrusion	L.S.		L.S.	L.S.	\$1,675.00	L.S.	\$350.00
629.0400	Pavement Yield Markings - Tape, Type I or Thermoplastic Extrusion	L.S.		L.S.	L.S.	\$265.00	L.S.	\$1,000.00
629.0410	Pavement Word - Tape, Type I or Thermoplastic Extrusion	L.S.		L.S.	L.S.	\$735.00	L.S.	\$2,000.00

PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center

District of Honolulu

PROJECT NO.: TC-H1-1(258)

Net Length of Project: 0.15 Miles

ISLAND: Oahu

DATE ADVERTISED: Internet Posting - August 30, 2007

BIDS OPENED: January 17, 2008

COMPLETION TIME: One Hundred Eighty (180) Working Days

** NOTE: Quantities shown in

this column are for inhouse use

only.

OKADA TRUCKING

ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.0500	Type "A" Pavement Marker	L.S.		L.S.	L.S.	\$1,880.00	L.S.	\$1,250.00
629.0510	Type "C" Pavement M arker	L.S.		L.S.	L.S.	\$585.00	L.S.	\$850.00
629.0520	Type "D" Pavement Marker	L.S.		L.S.	L.S.	\$10.00	L.S.	\$850.00
629.0530	Type "H" Pavement Marker	L.S.		L.S.	L.S.	\$350.00	L.S.	\$600.00
636.1000	Field Office (Not to Exceed \$32,000)	L.S.		L.S.	L.S.	\$30,000.00	L.S.	\$32,000.00
636.2000	Maintenance of Trailer	F.A.		F.A.	F.A.	\$8,000.00	F.A.	\$8,000.00
640.0100	Lined Drainage Ditch	170		L.F.	\$45.00	\$7,650.00	\$20.00	\$3,400.00
641.0100	Hydro-Mulch Seeding	L.S.		L.S.	L.S.	\$6,000.00	L.S.	\$5,000.00
645.0100	Traffic Control	L.S.		L.S.	L.S.	\$350,000.00	L.S.	\$700,000.00
645.0200	Temporary Detour Lanes	L.S.		L.Ş.	L.S.	\$500,000.00	L.S.	\$325,000.00
645.0300	Additional Police Officers, Additional Traffic Control Devices and Advertisement	F.A.		F.A.	F.A.	\$100,000.00	F.A.	\$100,000.00
649.0200	Inertial Barrioer Modules (200 pounds)	5		Each	\$745.00	\$3,725.00	\$900.00	\$4,500.00
649.0400	Inertial Barrioer Modules (400 pounds)	6		Each	\$745.00	\$4,470.00	\$900.00	\$5,400.00
649.0700	Inertial Barrioer Modules (700 pounds)	8		Each	\$745.00	\$5,960.00	\$900.00	\$7,200.00
649.1400	Inertial Barrioer Modules (1,400 pounds)	35		Each	\$745.00	\$26,075.00	\$900.00	\$31,500.00

COMPLETION TIME: One Hundred Eighty (180) Working Days

PROJECT: Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of Queen's Medical Center District of Honolulu Net Length of Project: 0.15 Miles PROJECT NO.: TC-H1-1(258) STATE OF HAWAII ISLAND: Oahu ** NOTE: OKADA TRUCKING **DEPARTMENT OF TRANSPORTATION** Quantities DATE ADVERTISED: Internet Posting - August 30, 2007 shown in HIGHWAYS DIVISION this column BIDS OPENED: January 17, 2008 are for inhouse use

only.

APPROX. APPROX. **UNIT PRICE UNIT PRICE ITEM NO. QUANTITY QUANTITY UNIT USED **AMOUNT** ITEM **AMOUNT** Inertial Barrioer Modules (2,100 pounds) \$745.00 \$9,685.00 \$900.00 \$11,700.00 649.2100 Each 13 652.0100 Cold Planing 3,240 S.Y. \$20.00 \$64,800.00 \$19.00 \$61,560.00 L.S. 655.0100 Drilling Holes and Installing Dowel Reinforcing Bars for L.S. L.S. L.S. \$320.00 \$640.00 Retaining Wall Drilling Holes and Installing Dowel Reinforcing Bars for L.S. L.S. \$320.00 655.0200 L.S. L.S. \$160.00 CITY Sidewalks, Curb and Gutters 655.0300 Drilling Holes and Installing Dowel Reinforcing Bars for L.S. L.S. \$230.00 L.S. \$550.00 L.S. STATE Sidewalks, Curb and Gutters \$20,000.00 656.0100 Maintenance of Existing Landscape Areas F.A. F.A. \$20,000.00 F.A. F.A. Repair of Existing Irrigation Systems \$20,000.00 657.0100 F.A. F.A. \$20,000.00 F.A. F.A. 658.0100 Plant Maintenance 3 \$4,600.00 \$13,800.00 \$3,000.00 \$9,000.00 Months 658.0200 \$2,000.00 \$6,000.00 Irrigation Maintneance 3 Months \$2,400.00 \$7,200.00 659.0100 Geocell Slope Protection L.S. L.S. L.S. \$36,000.00 L.S. \$35,000.00 680.1001 Two 4-Inch HECO Ducts, Concrete Encased, Including L.S. L.S. L.S. \$26,000.00 L.S. \$11,200.00 Trenching and Backfill (Duct Section F) 680.1002 Conduit Entries into Existing HECO Handhole, Repair to L.S. L.S. L.S. \$1,600.00 L.S. \$5,620.00 Match Existing Handhole Wall Demolish and Dispose of Existing HECO Concrete Encased L.S. 680.1003 L.S. L.S. \$5,730.00 L.S. \$11,000.00 Conduits within State Right-of-Way

PROJECT N ISLAND: Oa DATE ADVE	Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of District of Honolulu O.: TC-H1-1(258) Net Length of Project: 0.15 Miles ahu ERTISED: Internet Posting - August 30, 2007 IED: January 17, 2008 ON TIME: One Hundred Eighty (180) Working Days	** NOTE: Quantities shown in this column are for in- house use only.			OKADA TRUCKING		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
680.1004	Coordination of Work with HECO for Service to Traffic Control Center	L.S.	QUANTITI	L.S.	L.S.	\$9,200.00	L.S.	\$2,000.00
680.2001	One 4-Inch HTCO Ducts, Concrete Encased, Including Trenching and Backfill (Duct Section G)	L.S.		L.S.	L.S.	\$5,600.00	L.S.	\$19,500.00
680.2002	Conduit Entries into Existing HTCO Handhole, Repair to Match Existing Handhole Wall	2		Each	\$2,750.00	\$5,500.00	\$400.00	\$800.00
680.2003	Demolish and Dispose of Existing HTCO Concrete Encased Conduits within State Right-of-Way	110		L.F.	\$52.00	\$5,720.00	\$80.00	\$8,800.00
680.2004	Adjust Existing Telephone Pull Box to Finish Grade	1		Each	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
680.2005	Coordination of Work with HTCO for Service to Traffic Control Center	L.S.		L.S.	L.S.	\$9,200.00	L.S.	\$2,000.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of This Item and all Force Account Items)	L.S.		L.S.	L.S.	\$500,000.00	L.S.	\$12,950.00
	A. Sum of All Items					\$6,984,570.00		\$3,501,035.00
	B. Either Furnish Foreign Steel Not to Exceed Minimal Amount (Fill in '0') or Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25% x A)				\$0.00			\$0.00
	C. Amount for Comparison of Bids (A + B)	1 20 70 X Mj				\$6,984,570.00		\$3,501,035.00

	Interstate Route H-1, Kinau Off-Ramp Improvements, Vicinity of District of Honolulu	of Queen's Me	dical Center						
PROJECT NO.: TC-H1-1(258) Net Length of Project: 0.15 Miles								STATE OF HAWAII	
ISLAND: Oa	ahu	** NOTE: Quantities			OKADA TRUCKING		DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION		
DATE ADVE	ERTISED: Internet Posting - August 30, 2007	shown in this column							
BIDS OPENED: January 17, 2008		are for in- house use							
COMPLETION TIME: One Hundred Eighty (180) Working Days			only.						
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
			**				•		
	I certify that this is a true and correct tabulation of bids for thi								
	Dent How	02/22/1	,						
	Ross Hironaka, Project Manager	Date							
						en e			